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Pattern: 
Loop: Rib pattern in front and return rows Num-
ber of st. divisible by 4 plus 2 edge stitches): 
Front and back row: knit alternately 2 st. plain 
and 2 st. purl between edge stitches. 
Chain edge stitches: 
Knit twisted plain at beginning of row, lift off 
stitch at end of row, placing the yarn in front of 
the st. 
Cap: Rib pattern in rounds (number of st. divi-
sible by 4) 
knit 2 st. plain and 2 st. purl alternately
Stitch test: (rib pattern, do not measure while 
stretched)  
Loop: 40 st x 28 r = 10 cm x 10 cm 
Cap: 40 st x 30 r = 10 cm x 10 cm
Instructions: 
Loop: Cast on 76 st plus 2 edge stitches in co-
lour bordeaux and initially knit 68 cm in colour 
bordeaux, then knit 68 cm alternately 2 r in 
colour tanne and 2 r in colour bordeaux in rib 
pattern. At 136 total height cast off stitches 
straight, in the process, knit stitches as they 
come. Sew cast on and cast off edge of the loop 
together. 
Cap: 
Cast on 128 st in colour tanne, spread onto 
4 needles of the set (= 32 st per needle) and knit 
24 cm (= 72 rd.) in rib pattern. Then cast off as 
follows, hereby always knitting the remaining st. 
up to rd. 83 as they come 
73. row: purl together the two purl st in every
2. left rib (=112 st)
74.–76. row: knit without decreasing
77. row: purl the two purl st. together in the
remaining left ribs (= 96 st.)
78.–79. row: knit without decreasing
80. row: knit together the two plain st. in each
2. plain rib (=80 st)
81. row: knit without decreasing
82. row: knit together the two plain st. in each
plain rib (= 64 st)

Quality:
Classico (Gründl)
50 % virgin wool (Merino super-
wash), 50 % acrylic 
50 g / 120 m

4.0 – 4.5

Needles:

Difficulty level:

Pattern
CLASSICO
Menś cap and loop

4 x          4 x

Size:
Loop: Height approx. 19 cm, 
circumference approx. 136 cm 
Cap: Head circumference 
approx. 57 cm–60 cm
Consumption: 
Loop: approx. 200 g colour 11 
(bordeaux) and approx. 100 g 
colour 18 (tanne) 
Cap: approx. 100 g colour 18 
(tanne)

3.5 – 4.0
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83. row: knit without decreasing 
Now finish the cap in stocking stitch 
84. row: knit together each 3. + 4. row (= 48 st) 
85. row: knit without decreasing 
86. row: knit together each 2 st. (= 24 st) 
87. row: knit without decreasing 
88. Round: knit each 2 st together in plain 
(= 12 st)  
Pull remaining st together with working yarn.

Abbreviations:  
st. = stitch(es)  
r = row(s) 


